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QUESTION 1

Which of the following allows greatest flexibility in formatting but generally has the lowestinteractivity with the users?
A. Analysis

B. Query

C. Dashboards

D. Managed Reports

Correct Answer: D

QUESTION 2

Which of the following is a critical component in delivering Corporate Performance Managementthroughout an
enterprise?

A. Drill down from summary to detailed information within individual subject areas.

B. Drill across from one subject area to another through conformed dimensions.

C. Star schema data marts designed to facilitate analysis and reporting.

D. Event management designed to monitor the status of Key Performance Indicators.

Correct Answer: B

QUESTION 3

Which of the following is a significant cause of failure when using the technology- focusedapproach to Bl Application
development?

A. Users often have difficulty understanding new technology.

B. New technology often contains internal flaws and errors that affect the delivered solution.
C. The solution is focused on a single subject area.

D. Developers often focus on just the data.

Correct Answer: D

QUESTION 4

You are tasked with administering theCognos Blsystem to perform batch reporting in a waythat maximizes the use of
available system resources. Given the following information, how manyjobs should be created to perform this task?
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480 reports must run

6 report processes are available

Each process is configured to use 4 low affinity connections
A. 20

B. 24

C.48

D. 12

Correct Answer: A

QUESTION 5

Which of the following requires additional configuration for installingCognos Blin adevelopment and production
environment?

A. The application in the development environment and in the production environment will use the Tomcat servlet
container as the application server.

B. The development environment will include workstations hosting Framework Manager andCognos 8 OLAP Modeling,
while the production environment will not.

C. The environment contains customized port and firewall settings for the default http andapplication server port.
D. The development and production environment will use data sources that are in Unicode.

Correct Answer: C
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